
INSIIF~ SCAN 2 - Quiz #1 - l September 27, 2018 

Name: J o~S[ \\--;0'iu.. 

Exercise 1. You're given that the following improper integral is convergent: 

I= 1+oo t2e-t• dt. 

Determine the value of ~ justifications required). 
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Exercise 2. Let E = JR2. 

l. Recall the definition of the norm 11·11 1 on E . 

2. Sketch the closed unit ball B of (E, 11·111). 

Exercise 3. Let E be a vector space over JR. Recall the definition of "N is a norm on E." 
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Exercise 4. Let a E lR. Fill in the blanks: 

roo dt I 
• the improper integral }

1 
t<> converges ¢=> CX. ) -1 \/ 

r1 dt I....., l / 
• the improper integral Jo t<> diverges ¢=> (J... p 1 V 

• the impmp~ ;nteg,al /,+oo ,-~ dt ,onv&ges <= J. > 0 / 



{ "type": "Document", "isBackSide": false }

